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CIN L B

Za R BT 22/ 1%
1 FIRER

| wmmeg | BE = v 1. 8080 2. 5940
BA i+ Z DAt 0.7860 |
MiEm| RO @& M ha | 0. 5890

M & F B M ha 3.1830
¥ 1) i H #* # 0.96
ke i #| m3/s/ha 0.0394
E # & ® 4+ 5 @ M ha 0.0870
OB M b O F K E| wdsec 0.1167
5 SR R (m = % M) m 0.150 0. 140
He 7K i | md/sec 2.3602
£ XK o Gk T Oox ) m 0. 400 8. 030
AL | £ " & m3 877
BE A 7K & m3
iz | R x® & m3 3,538
DE & it m3 4,415
iR = H = 3 m3 5, 766
WOk = (L.L.W. L) m 84. 000
# ® ® (L W L) m 86. 000
BOOXK & ( H W L) m 89. 000
2 % #® X & (HHWLD m 89. 400




. %ﬁ%fﬂ%‘ﬁ@%?&@ﬁ% 1 B
REMOFEIL. B/PHERETHS A B TRET A LT3,
f ha
El b3 1.0 2.809 2. 8090
Il & = M| 0.6 7.930 4.7580
= | oS Hi| 0.8 21.951 17. 5608
B - R OE H 1.0 0.070 0.0700
& F @A) 32.760 25. 1978
SR RS
f = (f*ha) /A
= 0.77
MK H &
Q = 1/360. f . r. A
= 12.8228 m3/sec
£ SRR E 0.77
r BERRBRE 183 mwm/hr
(1,/ 3 OERER)
AT AKX EAE 32.760 ha
Q = 1.2920 m3/sec (BlEs. TR/ ZEBERSIE] 1Y)
Q- > Q
Lo T, FABRMOREX WE TH 5,




- KM O E
1, RBEHROFEKGE
Qpe= Q* (A/A") (m3/sec)
Q : THFEIDOW TEES (n3/sec)

A : FAEHROLEKEME (ha)
AT QOEHMEDEKEM (ha)

2. FRMIREICRT 2 EMRE

‘rc= Qpcx (360,/f *%A) (mm/hr)
f . BAZ%OEHMEMAE
FEHh 1.0
AR H 0.8

3. RBLERE
Vw= FrckAx f (m3)
Frc: HKEEZEE (n3/ha)
f . BEARBOTHMEFRE
A FREMOLE/KEFE (ha)
4, UWRLERE
Vs= Vsl+Vs2+Vs3+Vs4 (m3)
Vsl: ITEHDOLRPE (m3)
Vs2: LTERTHODILHE (3)
Vs3: RERHHOLRIE (n3)
Vs BRENBED TR (m3)
(1) T=:FoLwE
Vsl= 400 %Al%%E (m3)

Al: BERES OEM (ha)
F: TEEIHE (4rAURF4rALT5, )

Lk ITEROIRMI, EABMEFER L LEZTTRICEET LD
Vsl= 0 m3&d 3,




(2) TEETHOLHE

REMHERDEIT, 1 OFEAEEL LKA TEHT S,
Vs2= VsB+VsC (m3)
VsB: BtEooit & (n3)

VsB= A2 (3*%X+7%X75)

= 4. 4% X*A3
VsC: GIEED O & 03)

VsC= A3 (3%X/3+7%X,/15)
= 1. 47%X*A4

A2 : BEIES DOEFE (ha)
A3 Y& O E E (ha)
X: 1859 DRHE+wE

EHIEREE 100n3/ha. &£
ZDMDEZE 200m3/ha. 4E

BL. RREKBOEENERD THFET, LRMHEHIED TORVEST,

ROMEE THRE/NT B,
Vs2 = 5%kA* f (m3)
A BAREHE (ha)
f : 15m3/%4

(3) RERWIOLBE

Vs3= 5 kA4x f (m3)
Ad . RBEREH S OEE (ha)
f o EefkHh - Eih 15m3/ha. 4£
Rkt 2m3/ha. £
1B PR Im3/ha. &
(4) BB EDLE
Vsi= HINETIHEOLE (m3)

5. RBEMOZEE (LWEFEMEE)

V= (Vw+Vs) k1. 2 (m3)




« FOMERDOFHE
1. HmfL
S1= Qpc/Cx*xy 2gh

Qpc : FAEHKEE (m3/sec)
S1: HRALDOEE (n2)

C: A= RFHEHAD  C=0.85~0.95 EHEME 0.9
HEHROMPERTE-THD €=0.7~0.9 FEHEE 0.8
FrxAl =0.6~0.8 A 0.7

g : ENIHEE 2=9.8(m/sec?)

h : FRFLO B LS AE E TOKEE ()

2. A7 U—v
R7 Y= iE, AV T4 A2 0L LOEEE T3,
S2= S1%k20
S1: HILOWEE (m2)
S2: AR Y —rOEHE (m2)
3. &Kt
(1) FrE#KRE
HkFEIZ, 1./10 0E-RIZTHET 3,
Q100= 1,/360%f *xr %A (m3/sec)
£ R H R
r : BEFEIREE (um/hr)
(11 0 04FER)
A %mgﬁﬁﬁ (ha)
(2) HAREORFT EOBIKKE
Qmax= Q100% C (m3/sec)

C : &BEx a7 U—hF A

1
T AV A 1.

DO
o~




(3) SKHOKE
Qmax= 2/15*C*[2g (3B1+2B2) h3/2

Qmax : AR (W3/sec)
h : BFALE ()
C : WHtEE C=0.6
g . EHMEE g=9.8(m/sec2)
Bl : &AKHEER ()
B2: %&/ki EEE (m)

(B152=0)
Qmax= (1.77%B1+0.7Tl*h 1)*xh1 3/2
Bl= (Qmax/hl 3/2)—(0.71% h1/1.77)
* BANEER AR %1:0.50& L72iXH Ly,
(o0

Qmax= 2,/15% C*./ 2%9.8% (3B1+2B2) % hl 3/2

= Qmax/ (2/15%¥Cx*/ 2%9.8%h1 3/2) *%1/5

4. K&

L= 1. 5 (Hl+h) —n*H2

L : /A&01&E (m)

h : &AL (m)
Hl: B#H%EZ= ()
H2 : A8EH (n)

n: {XOVAE 1:n

¥ (h/HL) >0. 50H8E. EX01. 5%2. 0235,

5. KANE
Tl= o (0. 6HI+3h—1)

T1: 7KAIE (n)
(T1=20. 5n&¥5, )
h : ERAGE ()
Hl: F#H%EZE W
o : FRE (a=0.15)
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1, ABMLEREOHE

(1) ABEMOFREHE A
% i ¥ K| AR | ERRER
E K ' =& = M ha MR
F Ot ha
B I i) 5 ha
& it i = ha 3. 1830 | 0. 0870
(2) REMOHFRLKE Qpc

i SCVII=etVi%- <

q = ¥t FReS/ sk
= 0.0394 m3/sec.ha

RTEES : 1.2920 m3/sec (BlEs. B NMNTREREE) 288)

RIREHE : 32.760 ha (B, TR INREREE] 38)
Qpec= S FHEM *q— 1,360 *(1.0-0.8) * 183 ¢ EfEE

= 0.1167 m3/sec

(3) P iRk f
flf (%ﬂgﬁ;ﬁm.o-l-%a)ﬂﬁﬁﬁﬁ*o.%ﬁmﬁ%*o. 8) /ERtEE
(4) FEBREICKT 5 EWHEE rc
r c= Qpc*360/ (f k&3EHE)
= 13 mm/hr
FreEL Y 1,154 m3

(5) FAEMVLERE Vw

1,154 *xSF-mEME* {
3,538 m3

Vw




2. UWWHMAEDHE
(1) CRbHL ORISR ERR

3
&
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T
T
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=
15y
it

]
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(2) WM&

TEED LB

Vsl
TEEOLHE

(@) V= * (BHEH—EER)
Bt Vse= * (LB —EBER)
Vs2= VsB+VsC= 874 m3

| RBESHOLDR
Vs3=

BARED DR
Vs4

(3) LML ERE

Vs= Vsl+Vs2+Vs3+Vsd
= 877 m3

(4) BUKAEAEER

3. MEMLERE

V= Vw+Vs+Vp
= 4,415 m3




4, REMHEAREDFE
(1) LCHHMFTEEE

Vs =

1,418 m3

(2) AEMGEEE

Vw =

4,348 m3

(3) BUkAEKFEAERE

Vp =

m3

(4) ERBMHBEEER

v°

Vs +Vw +Vp
5,766 m3

5. BELOREEDORET

(REMARZHEELD)

(REMAEHEELD)

GREMEEHEELYD)

B VB B (m3) HEAE (m3) TR ' =
ECESIANT 3,538 Z, 348 1.23

CRPHLV s 877 1,418 1.62

[ BKAVp 0

R i, 415 5, 766 1.31




6. FEM

¥}

E

=

EE

( 1 AEMAR)
EE®H & (7724-9-kL5)
HESER FL=89.00 1527
FL=86.00 1372
R FL=86.00 74 8n
FL=84.00 67 0nt
WEER V¥=1/2x (1527+1372) x3.0= 4348d

VS=1/2x (748+670)

X2.0= 1418d




7. FOMDEHE
(1) ARMOEE

HHWL=

l
IET5S T
1300%800

\

HWL=

h1=10. 400

h=|2. 925

(2) HpmfL .
VHWL= 89. 000
B'= 0.140
h={2. 9256

YV  86.075
Qpc= 0.1167 m3/sec

S= Qpc/0. 7/ (259, 8%h) L

= 0.0220 m2 = H#*B =

0.0210 m2

OK




(RE)

Qpc = S*0.64 (2%9.8%h)

0.0954 m3/sec

(|

IIA

Qpc= 0.1167 w3/sec
c e e OK

(3) 27 U—Vv

S'=H *B %20
0.420 m2

A

OK

(4) &kt

AR A
MErRsRE r
(1004ERE=R)

T AR L £

Q100= 1,360%f *r*A
= 1. 9668 m3/sec

3.1830 ha
231 mm/hr

0.963

Qmax= Q100%1.2
= 2.3602 m3/sec

) 4.085

]
1:02

ZHHWL

00%°0

o HWL

4.015

. 2
Qmax=-I—5- *e*hy 2gh(3Bg+2B;)

2
= -15— X0.6x0.40xy ZX9.8X0.40% (3x8.030+2x8.190)

=3. 626 d/sec




V=

Q=

2,/15% C %y 2%9.8% (3B1+2B2)
3.6260 m3/sec

(K 9220w n" =)

1/n * R2/3 * 11/2
4, 4145 m/sec

AxYV
4.3924 m3/sec

v

*hl 3/2
Qmax= 2.3602 m3/sec

* = . OK

2.3602 m3/sec=Qmax

* s = . OK
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1, FrFERKEHES
Q=1/360. C. [. A

Q : EFERIAKE @/ sec)
C : ¥R
ERLH c= 1.
BRI c= 0.
I : BREE
1 OERERERBAE 142 mn/hr (&7 o v 7)
A : FuREE (ha)

0
8

2., BrE&Er
Q=A. V V=1,/"n. R2/3. 11/2 (=rr=27KFE)

Q : FE(m3/sec)

A BEKHEREFZDEERE (m2)

V . ¥iE (m/sec)

R : BE=A/P(m)

P: FHEIE )

n : FEEREK
a7 Y- RERUEE (CRE A = 0.013
« UBIKEE n= 0.015
s 27 U—FAIKE n=0.020
s ZEEKE n= 0.025
- FERB/NKE n= 0.025
ST AKES n=0.030

1 : HE(%)

7z & =

. V=5. Om/ seceif V=5.0m/secil k.
Mok B 1. 5Lk 2. 0LLE
B R 2. OBk 2. 0LLE
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